
Associative Property Of Multiplication
Use the associative property to simplify and solve 

the problems. Write your answers in the space provided.

Emma is baking cookies. She makes 3 batches of 
cookies, and each batch has 4 trays. Each tray holds 5 
cookies. How many cookies does Emma bake in total?

There are 6 rows of desks in a classroom. 
Each row has 6 desks, and each desk has 5 books on it. 

How many books are there in total?

A toy store has 3 shelves, each with 5 boxes of toy cars. 
Each box contains 4 toy cars. 

How many toy cars are there in total?

(3 ✕ 4) ✕ 5 = 3 ✕ (4 ✕ 5) = 3 ✕ 20 = 
60

(6 ✕ 6) ✕ 5 = 6 ✕ (6 ✕ 5) = 6 ✕ 30 = 
180

(3 ✕ 5) ✕ 4 = 3 ✕ (5 ✕ 4) = 3 ✕ 20 = 
60


